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QUESTION 1

An international Insurance company has grown with little consideration for rationalization and consolidation. There is no
coordination between business unit and every one have managed its own applications. The CIO decided to establish an
Enterprise Architecture program within the enterprise to enable the company to expand to other markets in the next two
years. The company has not any Enterprise Architecture Capability in place and the he CIO has set up an Architecture
Board and called its first meeting. Refer to the scenario above

As Lead Architect you will establish a TOGAF 9 Enterprise Architecture program. Identify the best way to do this among
the answers below.

Choose one of the following answers

A. You tailor TOGAF 9 with the help of the Architecture Board to integrate it with the legacy procedures established by
the PMO. You also examine the relationship of TOGAF with other processes and frameworks for governance, systems
development and operations management. You then define the footprint of the enterprise architecture.

B. As Lead Architect you create a Request for Architecture Work to allocate resources to work on the Architecture
Vision. Based on the outcome of the Business Scenario technique you apply, you create the Common Systems
Architecture to guide the choice of Solutions Building Blocks. These will be then used for integrating the systems across
business units.

C. You clarify the agreement on key business drivers and the scope of the enterprise architecture. You then clarify the
requirements for architecture work. You define the architecture principles together with the help of the Architecture
Board in order to lead the architecture work. You consider how to tailor TOGAF 9 for this enterprise.

D. You conduct an Architecture Maturity Assessment. You then use the TOGAF ADM to state the requirements for the
integration of a new company information management system into the organization. You then list a set of business
goals together with the Architecture Board that will be a reference to the enterprise architecture program.

Correct Answer: C

QUESTION 2

UTrack Transports is a strong UK logistics company. The head of the strategic marketing division engaged the Principal
Architect issuing a Request for architectural work to design an enhancement of the current Enterprise Data Warehouse
system. An enhancement is needed to support the change in the business model; UTrack wants to leverage on
customer data collected during business as usual activities and anonymize them to offer marketing agencies a fresh and
accessible source of analytics data, this will increase the company revenues. TOGAF 9 is the architectural framework in
use.

Refer to the scenario above The Principal Architect has decided to ask you as Business Intelligence Subject Matter
Expert to design the Data Architecture. The Chief Architect shared with you the Architecture Definition Document
including the Business Architecture design. You now need to choose the artifacts you want to produce as part of the
Data Architecture design. Identify the best answer accordingly to the TOGAF 9.

Choose one of the following answers
A. You first list the data used across the enterprise using a Data Entity/Data Component Catalog, including data entities
and also the data components where data entities are stored. You then classify what the data source are and the

relationship with the data entities via a System/Data Matrix. You finally identify common data requirements using a Data
Lifecycle Diagram.
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B. You first list the data used across the enterprise using a Data Entity/Data Component Matrix, including data entities
and also the data components where data entities are stored. You then classify what the data source are and the
relationship with the data entities via a Role/System Catalog. You finally identify common data requirements using a
Data Use Case Diagram.

C. You first list the data used across the enterprise using a Data Entity/Data Component Catalog, including data entities
and also the data components where data entities are stored. You then classify what the data source are and the
relationship with the data entities via a System/Data Matrix.

D. You first list the data used across the enterprise using a Data Entity/Data Component Catalog, including data entities
and also the data components where data entities are stored. You then assign ownership of data entities to the
organization via a System/Data Matrix.

Correct Answer: A

QUESTION 3
Scenario: Zephyr Enterprises

Please read this scenario prior to answering the question Zephyr Enterprises specializes in the development of wind
turbine blades for use in large-scale commercial wind energy production systems. Zephyr has manufacturing facilities
located in Palm Springs, California, Omaha, Nebraska, and Winnipeg, Ontario. Each of these plants supplies a different
manufacturer that builds and sells complete systems. The turbine blades are custom engineered to meet each
manufacturers design specifications.

Until recently, most turbine blades were fabricated manually using molded fiber-reinforced plastics. However, recent
improvements in composite materials, coupled with enhanced automated methods for precision application of materials
during the molding process, have led to significant reduction in weight, increase in strength, and greatly improved blade
longevity. Zephyr has pioneered the development of a proprietary automated process for continuous extrusion of the
turbine blades. Patents have been filed to protect the process, but certain trade secrets must be closely guarded.

Zephyr has a mature Enterprise Architecture organization that is supported by a cross-functional Architecture Review
Board. The Chief Information Officer and the Chief Operating Officer co-sponsor the Enterprise Architecture program.

Zephyr has used TOGAF and its Architecture Development Method (ADM) to develop its automated manufacturing
processes and systems that are used to design, manufacture, and test the blade assemblies. They have recently
updated to TOGAF 9 and have adapted the Zephyr Enterprise Architecture to closely follow the TOGAF 9 framework.
All of Zephyrs IT architects have been trained and certified on TOGAF 9.Recently, an architecture project was
completed that defined a standard approach for controlling the Automated Test System that is used at each plant to
perform final quality assurance tests on each completed blade assembly. The Manufacturing Architecture Board
approved the plan for immediate implementation at each plant.

An Architecture Contract was developed that detailed the work needed to implement and deploy the new Automated
Test System controller. The Chief Engineer, sponsor of the activity, has expressed concern that a uniform process be
employed at each site to ensure consistency.

Refer to the Zephyr Enterprises Scenario

You are the Lead Architect for this activity.

You have been asked to recommend the best approach to adopt to address the Chief Engineer\\'s concern.

Based on TOGAF 9, which of the following is the best answer?

A. You create an Architecture Contract to manage and govern the implementation and migration process. If the contract
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is issued to an external party, you ensure that it is a fully enforceable legal contract. For internal development projects,
you decide it is adequate to utilize a memorandum of understanding between the Manufacturing Architecture Board and
the implementation organization. You recommend that if a deviation from the contract is detected, the Manufacturing
Architecture Board should modify the Architecture Contract to allow the implementation organization the ability to
customize the process to meet their local needs. As a result, you then issue a new Request for Architecture Work to
implement the modified Architecture Definition.

B. You create an Architecture Contract to manage and govern the implementation and migration process. If the contract
is issued to an external party, you ensure that it is a fully enforceable legal contract. For internal envelopment projects,
you decide it is adequate to utilize a memorandum of understanding between the Manufacturing Architecture Board and
the implementation organization. You recommend that if a deviation from the Architecture Contract is detected, the
Manufacturing Architecture Board grant a dispensation to allow the implementation organization the ability to customize
the process to meet their local needs.

C. You create an Architecture Contract to manage and govern the implementation and migration process. If the contract
is issued to an external party, you ensure that it is a fully enforceable legal contract. For internal development projects,
you decide it is adequate to utilize a memorandum of understanding between the Manufacturing Architecture Board and
the implementation organization. You ensure that the Manufacturing Architecture Board reviews all deviations from the
Architecture Contract, and considers whether or not to grant a dispensation to allow the implementation organization to
customize the process to meet their local needs.

D. You create an Architecture Contract to govern the implementation and migration process at each site. If the contract
is issued to an external party, you ensure that it is a fully enforceable legal contract. You ensure that the contract
addresses the project objectives, effectiveness metrics, acceptance criteria, and risk management. You then schedule
compliance reviews at key points in the implementation process to ensure that the work is proceeding in accordance
with the Architecture Definition. Based on the results, you ensure that the Manufacturing Architecture Board reviews all
deviations from the Architecture Contract, and considers whether or not to grant a dispensation to allow the
implementation organization to customize the process to meet their local needs.

Correct Answer: C

QUESTION 4

TotalComms is a telecommunications company formed from the merging of other 2 telecommunication
companies. The business operating model has been unified, the TOGAF 9 Architecture Board approved
the outline Implementation and Migration Plan the detailed migration planning must know be approved.
Your help is needed to work on the migration planning with all the key stakeholders to achieve an
agreement.

Refer to the scenario above

You are the Lead Architect asked to describe accordingly to TOGAF 9 the best way to address the
following activities:

The way the migration planning is conducted.

What is going to be implemented.

The stakeholders involved in the implementation. The definition of the deliverables to use
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Choose one of the following answers

A. The Chief Architect will conduct the Migration planning and then share it with the other domain architects. The
migration plan will be formed by a list of projects, their priority, their costs and a recommendation on how to proceed.
After the plan is shared with the Architectural Board members and any observation that may raise incorporated in the
plan, any individual project will go in front of the board for the approval for resources for the next project increment. A
GANT chart will be included to be used as a roadmap.

B. The Migration planning will be conducted as a series of steps: confirming and then coordinating the corporate
management frameworks involved; establishing clear business value for the deliverables; creating detailed resource
estimates for the work to do; define priority of the work, sequence and then the Transition Architectures. After this, an
Implementation and Migration Plan can be confirmed. The Portfolio Management, Operations Management and
Business Planning teams should be involved in the implementation of the major deliverables. Once these have been
completed, regular meetings will be done to enable the architecture to be kept up-to-date.

C. Implementation and Migration Strategy will be used to define project plans focusing on scope, time and budget. The
business value of each project is assessed and Project Managers will prepare submissions to the IT governance Board
to ask for their funding and the Lead Architect will be active part of the board. The collection of project roadmaps and
plans will be used to detail the EA Implementation and Migration Plan.

D. This step will be conducted by the Enterprise Architecture team involving Business, Application, Data, Technology,
and Security architects. They will implement the Transition Architectures and together will prioritize a list of activities and
include the Architecture Building Blocks in an Implementation and Migration Plan and Roadmap. After this, the
comments on the deliverables shared with lines of business and the members of the Executive Board are integrated,
this to enable the funding on the Enterprise Architecture work.

Correct Answer: B

QUESTION 5

Dante Manufacturing is a big supplier in the automotive industry, head quarter in London with main plants in New York,
Milan, Toronto and Tokio. Each one of these plants has been operating its own Manufacturing Requirements Planning
(MRP 11) system, production scheduling and custom applications for production automation. Dante\\'s objective is to
minimize waste production improving production operations. During an analysis of the process improvements was
determined that a significant improvement on waste production could be achieved replacing the outdated MRPII system
with a common Enterprise Resource Planning (ERP) located in London. Dante has well-developed governance and
processes based on TOGAF 9. The Chief Engineer of Global Manufacturing operations is the business sponsor and
issued a Request for Architectural Work. The architectural activity for the implementation of the new ERP platform is
kicked off and the architectural vision is produced. Some concerns on the security, reliability, responsibility and time to
manage change of driving the MRP 1l and production scheduling by a central system located in London are raised by
the team of architects working on the project and by senior management of the various organizations. These last in
particular, stressed the need to align the information management with the business. Refer to the scenario above As
Lead Architect you have been asked to update the IT architectural principles to address the concerns raised by the
project stakeholders and the senior management. According to TOGAF 9 (assuming the enterprise is using the example
set of principles in TOGAF 9 Section 23.6), which of the following is the best answer?

Choose one of the following answers

A. Common Use Applications, Data is Shared, Data is Accessible, Data is Secure, Interoperability, Control, Technology
Independence.

B. Business Continuity, Service-Orientation, Data is Shared , Data is Accessible, Data is Secure, Responsive Change
Management.

C. Requirements-Based Change, Ease-of-Use, Data is Normalized.
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D. Information Management is Everybody\\'s business, IT Responsibility, Data Trustee, Technology Independence,
Responsive Change Management.

Correct Answer: D
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